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1. EJIM 1 3AJIAYHU OCBOEHUA JTUCHUIIJIMHBI (MOAY JIS1)

1.1.0enssMmu  ocBOeHMs1 JMCHUILIMHBI (Moaynas) «Teopusi oTpaciieBbIX PBIHKOB.

IIpakTHYeckoe NPUJIOKeHHE (HA AHTVIMIICKOM fI3bIKeE))» SABJIAIOTCH:

- IOMOIIlb B OBJAJECHUU COBPEMEHHOI'O 3KOHOMHYECKOIO S3bIKA U B CaMOCTOSTEIbHOM
OpPUEHTHPOBAHUH B CIIOKHBIX MTpoOsieMax GOopMUpPOBaHUS U TpaHCHOPMAIIMU PHIHOYHBIX CTPYKTYP,

-JIaTh IOCTYITHOE, HO BMECTE C TEM JIOCTaTOYHO MOJIPOOHOE M3JI0)KEHUE OCHOBHBIX MPOOIEM
U METO/IOB aHaju3a OTPACIEBBIX CTPYKTYp U MOBEACHUS (UPM; Pa3BUTh HABBIKU U CIIOCOOHOCTH
CTYJEHTOB K IPUMEHEHUIO COBPEMEHHBIX TEOPETUUECKUX U IMIIMPUUECKUX MOZENIEH [UIsl PEILeHUs
KOHKPETHBIX SKOHOMMYECKUX MPOOJIEM; OCBOUTh 3KOHOMHYECKHM MOXOJ K M3YYEHUIO M aHAJINU3Y
KOHKPETHBIX TPUKJIAJHBIX JKOHOMHUYECKMX 3a/ay, TAaKUX KakK OILIEHKa CTENEHU BEPTUKAILHOU
MHTETPUPOBAHHOCTH OTPACIIH, HAIMYUE [IEHOBOTO CTOBOPA, UePT €CTECTBEHHOW MOHOIIOJINUH U T.[.

1.2. 3amaum ocBoeHuss aMCOMILIMHBI (MonayJsi): «Teopussi oTpac/ieBbIX PBIHKOB.
I[IpakTyeckoe NpuJio:KeHne (HA AHTJIMICKOM SI3bIKe))

-J1aTh TEOPETUYECKHE 3HaHUS 00 SKOHOMUUECKUX OCHOBAX TEOPUU OTPACIEBBIX PHIHKOB;

-03HAKOMHUTbH C OCHOBHBIMH MOJEJISIMU MOBEACHUS (PUPM B YCIOBHUSIX Pa3IMUHBIX PHIHOUHBIX
CTPYKTYD,

-aTh NPUKJIATHBIE 3HAHUS B OOJIACTU MPUHATHUA (PUPMOIM 3KOHOMHYECKHMX DPELIEeHUM ais
pa3HBIX TUIIOB PHIHOYHBIX CTPYKTYP;

-Hay4YUTh (hOpMaM U METOAAM SKOHOMUYECKOTO aHajn3a MPUMEHUTENIbHO K UCCIIEI0BaHUIO
PBIHOYHBIX CTPYKTYP, GYHKIIMOHUPOBAHUIO OTPACICH;

-copMHUpPOBaTh HABBIKU CAMOCTOSITEILHOTO M TBOPYECKOI'O HCIIOIb30BaHUS MOJYUYEHHBIX
3HAHUN B IPAKTUYECKON AESATEIbHOCTU CIELUAIINCTA.

2. MECTO JUCIIMIIJIMHBI B CTPYKTYPE OIIOII

2.1. VYyeOnHas gucuumiauHa «Teopusi orTpacieBbix pbIHKOB. IIpakTHyeckoe
NpuJIoKeHUue (Ha AHIVIMHCKOM fI3bIKe)» OTHOCUTCS K BApUAaTUBHOM YacTU U OCBamBaeTcs B 5 u 6
cemMecTpax.

B nanbHeliimem 3HaHUS, MOJIYYEHHbIE NPU W3YYEHMM IUCLUIUIMHBI, MOTYT OBITh TaKxke
WCIIOJIb30BAaHbl MPU W3YYEHUH DKOHOMHUKHM TpyJa, COLMAIBHONM IIOJUTHKE, DKOHOMHKE
OTHENbHBIX  OTpacied  (Hampumep, oOpa3oBaHUs, 3APAaBOOXPAHEHHS, HaykKu U  Jp.),
rOCy/IapCTBEHHOTO PETYJINPOBAHUS OTIENBHBIX OTPACIEH U Ap.

2.2. JInsa n3y4yeHUusl JAHHOM y4eOHOM NJUCHUIIMHBI (MOAYJIA) HEOOXOAUMBI CJeAyIOLIHe
3HAHUSI, YMEHHUs, HABbIKH, (pOpMHpYyeMble NpeJlIecTBYIOIMMH Y4eOHbIMU IHCHUIIHHAMU
(MopynsimMu):

-MukposkoHoMuka-2

3HaHMS: 3aKOHOMEPHOCTEH (DYHKIMOHHUPOBAHUS COBPEMEHHOW HSKOHOMHUKH HA  MHUKPO-U
MakpOypOBHE; OCHOBHBIX pe3yJbTaTOB HOBEHIINX HCCICIOBAaHUH, OIyOJUKOBAaHHBIE B
BeIyLIUX MPo(decCHOHANBHBIX )KypHalax 1Mo npodieMaM MUKPO-U MaKPOIKOHOMUKH;

YMEHHs: IPUMEHATh COBPEMEHHBI MaTeMaTU4YECKUN WHCTPYMEHTApUN Ul pEUICHUs
coZiepKaTeNbHBIX YdKOHOMUYECKHUX 3a/1a4;

HaBpbiku: caMoCTOATENbHON UCCIIEN0BATENHCKOM PAOOThHI

2.3. lTocaenyromue yyeOHble JUCHUINIMHBI (MOAYJIM) U (WIH) NPAKTUKH, 1JI51 KOTOPBIX
Heo0X0AUMBbI 3HAHMS, YMEHHUSl, HABbIKHM, (popMupyeMble JaHHOW Y4eOHON JAUCHUIJIMHOM
(MoayJiem):

- MHCTUTYIMOHAIBbHAS SKOHOMUKA

- CnenuanbpHble KypChl IO BBIOOPY



- DKOHOMHUKA pETnoHa
3. IVIAHUPYEMBIE PE3YJIBTATBI OBYYEHUSA IO JUCHUIITIMHE (MOYJIIO)

[Iporiecc ocBOCHMS AMCUMIUIMHBI (MOJIYJIS) HampaBieH Ha (OPMUPOBAHUE DSJIEMEHTOB
cnenytomux komneteHIui B cootBeTcTBUM ¢ PI'OC BO u OINIOIT BO 1o nanHOMy HanpaBieHHUIO

IIOATOTOBKM:
_VK-4
-VK-10

Tabauua 1 — JlekoMno3uius pe3yJbTaTOB 00yUeHUs!

Kon [Tnanupyemblie pe3ybTaThl 0OYUYCHHS MO JUCHHUILTHHE (MOJIYJIIO)
1 HaMMEHOBaHUE
3HaTh Ymetb Bnanets
KOMIETEHIINU
VYK-4. Criocoben CTUJIb OOIICHUs Ha | BRIMOJHATH TiepeBoj | HaBeikamu BrameHus
MPUMEHSTh roCy/1apCTBEHHOM npoeCCHOHANBHBIX | IETTOBOM  TEPEemUCKU
COBpEMEHHbBIE sa3bike PD u TEKCTOB C | HA TOCYJapCTBEHHOM
KOMMYHUKATUBHbIE MHOCTPAHHOM  f3bIKE | HTHOCTPAHHOTO s3bIKa | A3bike PO u
TE€XHOJIOTUH, B TOM B 3aBHCHUMOCTH OT | HA TOCYJAapCTBEHHBIN | HHOCTPAHHOM SI3bIKE
qucJie Ha HeJIM W YCIOBUH | fA3BIK PO Hu clc y4ETOM
WHOCTPaHHOM(BIX ) B3aMMO/ICHCTBUS, rOCyIapCTBEHHOTO ocoOeHHOCTEH
sa3bIke(ax), Aist aJanTUpyeT peub, | s3bIKa P® Ha | CTUITUCTUKH
aKaJIeMHYeCcKoro U CTWJIb OOIIEHUS U | MHOCTPaHHBIM. opuIHaIbHBIX U
npoeCCHOHANBHOTO | SI3BIK ~ YKECTOB K HEO(PUITUATHHBIX
B3aUMO/ICHCTBUS CUTYaIsIM nuceM u
B3aUMO/JICUCTBUSA COIIMOKYJIbTYPHBIX
paznuunii B hopmare
KOPPECIOHAEHIIUH.
VYK-10. Crnocoben | OcHOBHBIE TPUHIMIIEI | Mcronbp30BaTh Mertonamu
IIPUHHMATh (YHKIIMOHUPOBAHUS 0a30Bble MOHATHUS M | FOCYJIapCTBEHHOIO,
0bOCHOBaHHBIC SKOHOMUKH U | IpaBOBBIC HOPMBI B MYHUIIMTIATBHOTO,
IKOHOMUICCKHC 5KOHOMHYECKOTO 00sacTi  (UHAHCOB, | KOPIIOPATUBHOTO U
pgmeHm B PAIMIHEIX | haspuTHs, TOHMMAET | GIOKETHOM U | JUYHOTO
?KI/IHSEIl-ICeT;;TCHBHOCTI/I uenu u 3HAET | HAJIOTOBOM cUCTEM SKOHOMHYECKOTO U
UHCTPYMEHTHI ¢buHaHCOBOTO
ydacTHsl rocyaapcTba MJIAHUPOBAHUS IS
B HKOHOMHUYECKOM JOCTHKEHHS
nporuecce TEKYIIUX u
JIOJITOCPOYHBIX
(UHAHCOBBIX IIENEH,
UCIIOJIb3YET
¢uHaHCOBBIE
WHCTPYMEHTHI TSt
YIPaBJICHUS
dbuHaHCAMHU

(OroxeTaMu) Beex
YpPOBHEM

4. CTPYKTYPA U COAEP KAHUE JUCIUIIJIMHBI (MOAYJIA)

O0BEM AUCTUTUTHHBI (MOIYJISI) COCTABISIET 4 3a4€THBIC €UHUIIBI, B TOM unciie 144 wdaca,
BBIJICJICHHBIX HAa KOHTAKTHYIO PaboTy oOydarouuxcsi ¢ mpenojaBareieM (M3 HUX 12 vacoB —
MpaKTUYECKHE 3aHATHs), U 132 gaca — Ha cCaMOCTOATEILHYI0 Pab0Ty 00yJarOIIHXCS.



Tabauna 2 — CTPyKTYpa U cojiep:KaHue TUCIHMIIMHbI (MOTYJIs1)
KonTakTHas CaMocT. dopMma TeKyIIero
pabora KOHTPOJIA
o paborta
Pa3nen, TemMa AMCHUTIITMHBI § (B 1acax) YCTepacMoctH,
(Motyst) 2 $opma .
@) m | gp | xp CP MIPOMEKYTOUIHOMN
aTTecTaluu
The Welfare Economics of 5 1 3 Tuckyceus
Market Power. Y
Theory of the Firm. 8 Jluckyccus, scce
Market Power and 1 3 Jlckycons, scce
Dominant Firms. ’
Non-Linear Pricing and Price Huckyccus, 3cce,
Discrimination 1 ] pENTUHrOBast
KOHTPOJIbHAS
pabota Nol
Market Power and Product 1 ] Tuckycous
Quality Y
Game Theory (Static games) 1 8 Juckyccus
Classic Models of Oligopoly Huckyccus, scce,
1 18 peUTHHTOBAs
KOHTpPOJIbHAS
pabota No2
UTOro 6 66 3AYET
1(3}:)1rrrr11;:S )Theory (Extensive 1 3 Tncxycens
gﬂgir;l:fyMOdels of 1 8 Huckyccus, cce
Product Differentiation JHuckyccus, scce
1 3 pEeUTHHIOBas
KOHTPOJIbHAS
pabota No3
An Introduction to Strategic Huckyccus,
Behavior 1 8 YCTHBIN
KOJUIOKBUYM
Entry Deterrence Huckyccus,
1 8 YCTHBII
KOJUTOKBHYM
Strategic Behavior: Principle Huckyccus,
8 YCTHBIN
KOJUIOKBHYM
Strategic Behavior: Huckyccus, scce,
Application 1 18 YCTHBIN
KOJJIOKBUYM
6 66
Wroro 12 132 | /- auer Gayer
C OIIeHKO¥)

Ilpumeuanue: JI — nexuus; 113 — npaktuueckoe 3ansatue, cemunap; JIP — mabopatopHas
pabora; KP — xkypcoBas padota; CP — camocTosTenbHas pabora.



Tadiuma 3 — Marpuua COOTHeCeHUsI Pa3esioB, TeM Y4YeOHOM IMCUMILUIMHBI (MOXYJIfA)
H GopMHPYEeMBbIX KOMIIETeHIIUM
OO01ee
Pazgen, Tema Kom-Bo Ko xomnerenum KOJIHUYECTBO
JTUCHUILTUHBL (MOJTYJIs1) 4acoB KOMIIETEHIINI
YK-4 YK-10
The Welfare Economics of Market 9 + 2
Power
Theory of the Firm 8 + + 2
Market Power and Dominant Firms 9 + + 2
Non-Linear Pricing and Price 9 + + 2
Discrimination
Market Power and Product Quality 9 + 2
Game Theory (Static games) 19 + 2
Classic Models of Oligopoly 9 + + 2
Game Theory (Extensive Forms) 9 + 2
Dynamic Models of Oligopoly 9 + + 2
Product Differentiation 9 + + 2
An Introduction to  Strategic 9 + 2
Behavior
Entry Deterrence 9 + 2
Strategic Behavior: Principle 8 + 2
Strategic Behavior: Application 19 + + 2
Htoro 144

Kpartkoe coaep:xanue Kax10i TeMbl JMCUHIIHNHBI (MOLYJIs1)

1. The Welfare Economics of Market Power
Profit Maximization. Perfect Competition. Supply. Market Equilibrium. Efficiency.
Measures of Gains from Trade. Pareto Optimality. Market Power. Market Power and Pricing.
Measurement and Determinants of Market Power. The Determinants of Deadweight Loss.

2. Theory of the Firm Neoclassical Theory of the Firm.
Why Do Firms Exist. Limits to Firm Size. Do Firms Profit Maximize?

3. Market Power and Dominant Firms
Sources of Market Power. Government Restrictions on Entry. Structural Characteristics .
Strategic Behavior by Incumbents. A Dominant Firm with a Competitive Fringe. Durable
Goods Monopoly. The Coase Conjecture. Pacman Economics. Market Power: A Second
Look. Benefits of Monopoly.

4. Non-Linear Pricing and Price Discrimination
Mechanisms for Capturing Surplus. Market Power and Arbitrage: Necessary Conditions
for Price Discrimination. Types of Price Discrimination. Antitrust Treatment of Price
Discrimination.

5. Market Power and Product Quality
Search Goods. Monopoly Provision of Quality. Quality Discrimination. Experience Goods and
Quality. Moral Hazard and the Provision of Quality. The Lemons Problem. Signaling High
Quality. A Dynamic Model of Reputation for Quality. Advertising as a Signal of Quality.
Warranties.



6.Game Theory (Static games)
Foundations and principles. the basic elements of a game. Types of games. Equilibrium concepts.
Static games of complete information. Normal form representation dominant and dominated
strategies. Rationalizable strategies. Nash equilibrium. Mixed strategies.

7. Classic Models of Oligopoly
Static Oligopoly Models. Cournot. Cournot Best-Response Functions and Residual Demand
Functions. Properties of the Cournot Equilibrium. Free-Entry Cournot Equilibrium. The Efficient
Number of Competitors. Bertrand Competition. The Bertrand Paradox. Product Differentiation.
Capacity Constraints. Cournot vs. Bertrand.

8. Game Theory (Extensive Forms)

Extensive forms. Strategies vs. actionsand Nash equilibria. Noncredible threats. Subgame
Perfect Nash Equilibrium. The Centipede game. Two-Stage games.

9.Dynamic Models of Oligopoly
Reaching an agreement.  Profitability of collusion. Factors that complicate reaching an
agreement. Dynamic games. Credible punishments and subgame perfection: finite
games. Super games.  Factors that influence the sustainability of collusion. Facilitating
practices. Antitrust and collusion.

10.Product Differentiation
Monopolistic competition: equilibrium. Bias in product selection. Asymmetric preferences.
Address models. A simple address model: Hotelling’s Linear City. Free entry into the linear city.
Localized competition. Efficiency of the market equilibrium. Strategic behavior.

11. An Introduction to Strategic Behavior
Strategic behavior. Strategic vs. tactical choices. The Stackelberg game. Stackelberg
equilibrium. Entry deterrence. Constant returns to scale. Economies of scale. Introduction to
entry games.

12.Entry Deterrence
The role of investment in entry deterrence. Dixit’s model of entry deterrence. Strategic
investment and monopolization. Contestable markets. Entry barriers

13. Strategic Behavior: Principle
Two-Stage games. Strategic accommodation. Strategic entry deterrence. The welfare effects of
strategic competition.
14. Strategic Behavior: Application
Learning by doing. Switching costs. Vertical separation. Tying. Strategic trade policy. Managerial
incentives. Research and development.
5. METOAUYECKHUE YKA3AHUS 11O IPEINNOJIABAHUIO
N OCBOEHUIO JUCHUIIJIMHbBI (MOAYJIs1)

5.1. ¥Ykazanus Ui npenojaBaTeiedl IO OPraHM3alMH W TPOBEJICHHUI0 Y4YeOHBIX
3aHATHH M0 JUCUUILINHE (MOTYJIIO0)
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Metoabl TpoBelEeHUS] NMPAKTUYECKUX 3aHATHH: O0OCYXJIEHHE IHUCKYCCHOHHBIX BOIPOCOB,
pelleHre MPaKTUKYIOIUX YNpaXHEHUH M 3a/1ad (IPOCTBIX U CIOKHBIX 33JaHMii), 00CyXKIeHue u
peluieHue MpakTUYECKUX KOHKPETHBIX M AQHAIMTHUYECKUX CUTYallMd — KEHCOB, KOHCYJIbTAlUU II0
TeMaM Kypca, 00CY>KIeHHEe U TPOBepKa JOMAIIHUX 3aJJaHHi.

5.2. Yka3zanus 11t 00y4ar0IMXCS 110 OCBOCHUIO TUCUMILIMHBI (MOIYJII0)

Tabauua 4 — Cogep:kaHue caMOCTOATEIbHOM padoThl 00y4YaIOUIUXCS

Kon- ®dopMBbI paboOTHI
Tembl/BONPOCHI, BEIHOCUMBIE HA 0
CaMOCTOSITEeIbHOE H3yUCHHE
94acoB
Profit maximization. Perfect competition. | 8 Pabota ¢ y4ueOHO-HAYyYHOH H
Efficiency. Market power. CIIPAaBOYHON  JIUTEpaTypOi.
[logrotoBka K TIpyHmoBOU
JINCKYCCHH.
Neoclassical theory of the firm. Institutional | 8 Pabota ¢ yueOHO-HAYy4YHOH 1
theory of the firm. CIIPaBOYHOM JIUTEPATYPOH.
[ToaroToBka K rpynnoBou
JIMCKyCcCcuu. Dcce.
Sources of market power. A dominant firm | 8 Pabota c yueOHO-HAYy4YHOH 1
with a competitive fringe. X-inefficiency. Rent CIIPaBOYHOH JTIUTEPATYPOH.
seeking. Benefits of monopoly. [ToaroToBKa K TPyNTIOBOM
JINCKYCCHUH. Dcce.
Non-Linear pricing and price discrimination. | 8 Pabota ¢ yueOHO-HAy4YHOH 1
Mechanisms for capturing surplus. Market CIIPaBOYHOM JTUTEPATYPOH.
power and arbitrage: necessary conditions for [MoaroroBka K rpyImnoBoi
price  discrimination. Types of price JIHCcKyccHud. Dcce.
discrimination.
Search goods. Experience goods and quality. | 8 Pabota ¢ yueOHO-HAYIHOH H
Signaling high quality. CIIPaBOYHOM JINTEPATYPOH.
[ToaroToBka K rpymnioBoit
JIMCKYCCHH.
Rationalizable strategies. Nash equilibrium. | 8 Pabora ¢ yue6HO-HAyIHOH 1
Mixed strategies. CIIPABOYHOM JINTEPATYPOH.
IlonroroBka Kk rpynmnoBoi
JIMCKYCCHH.
Static oligopoly models. Cournot. Bertrand | 18 Pabora ¢ yueOHO-HAYyIHOH U
competition. The Bertrand paradox. Product CIIPaBOYHOM JTUTEPATYPOH.
differentiation. Cournot vs. Bertrand [loxroroBka K TpyImoBoi
JINCKyCCUU. Dcce.
Extensive forms. Strategies vs. actions and | 8 Pabota ¢ yueOHO-HAYy4YHOH 1
Nash equilibria. Noncredible threats. Subgame CIIPaBOYHOM JIUTEPATYPOH.
Perfect Nash Equilibrium. The Centipede [lonroToBka K TpyImoBOi
game. Two-Stage games. JINCKYCCHH.
Reaching an agreement.  Profitability of | 8 Pabora ¢ yueOHO-HAyYHOH U
collusion. Factors that complicate reaching an CIIPaBOYHOU JTIUTEPATYPOH.
agreement. Dynamic  games. Credible [ToaroToBKa K TPyIIOBOM
punishments and subgame perfection: finite JHUCKyccHu. Dcce.
games. Supergames. Factors that influence the
sustainability of collusion. Facilitating
practices. Antitrust and collusion.
Monopolistic competition: equilibrium. Bias in | 8 Pabora ¢ yueOHO-HAy4YHOH U
product selection. Asymmetric preferences. CIIPaBOYHOH JIUTEPATYPOH.
Address models. A simple address model: [ToaroToBKa K TPyIIOBOM
Hotelling’s Linear City. Free entry into the JIUCKYCCHH. Dcce.




linear city. Localized competition. Efficiency
of the market equilibrium. Strategic behavior.

Strategic behavior. Strategic vs. tactical | 8 Pabora ¢ yueOHO-HayIHOH 1
choices. The Stackelberg game. Stackelberg CIIPaBOYHOM JTUTEPATYPOH.
equilibrium. Entry deterrence. Constant returns [MoaroroBka K rpymioBoit
to scale. Economies of scale. Introduction to muckyccnu. [loaroroska k
entry games. KOJUIOKBUYMY.
The role of investment in entry deterrence. | 8 Pabota ¢ yueOHO-HAYy4YHOH 1
Dixit’s model of entry deterrence. Strategic CIIPaBOYHOM JIUTEPATYPOH.
investment and monopolization. Contestable [lonroToBka K TpyIOBOH
markets. Entry barriers muckyccuu. [TonroToBka k
KOJUIOKBUYMY.
Two-Stage games. Strategic accommodation. | 8 Pabota ¢ yue6HO-HAay4YHOH 1
Strategic entry deterrence. The welfare effects CIIPaBOYHOM JINTEPATYPOH.
of strategic competition. [MoaroroBka K rpymnmnoBoi

nuckyccuu. [lonrotoska k
PEUTUHTOBOM KOHTPOJILHOMN
pabote. [Toaroroska k

KOJUIOKBUYMY.
Learning by doing. Switching costs. Vertical | 18 Pabota ¢ yueOHO-HAy4YHOH 1
separation. Tying. Strategic trade policy. CIIPaBOYHOM JINTEPATYPOH.
Managerial  incentives.  Research  and [MoaroroBka K rpymnmoBoi
development. nmuckyccud. [lonarotoska x

MPOEKTHOM padore.
IToaroroBka k
KOJUIOKBUYMY.

5.3. Buasl u ¢QopmMbl NHCbMEHHBIX PadoOT, NPeIyCMOTPEHHBLIX IPH OCBOCHUM
AUCHUILIMHBI (MO/1YJis1), BHINOJIHAEMbIE 00y4aIOIMMUCS CAMOCTOSATEILHO

[Ipy moAroToBKE K KaKI0OMY CEMHHAPCKOMY 3aHSTHIO CTYJIEHT JOJKEH OTBETUTH 3aJaHus,
KOTOPLIC MO3BOJIAIOT CTYACHTAM NPHUMCHUTL IMOJTYYCHHBIC TCOPCTUUCCKHUEC 3HAHUA JIA aHaliu3a U
00001IeHNsT  TPONHACHHOTO  TeopeTudyeckoro wmarepuana. [locie OKOHYaHHMS — M3y4YeHUS
COOTBETCTBYIOIIIETO MOJYJISI TOXOXHUE 3aJladyd, pa300paHHbIC HA CEMHUHAPCKUX 3aHATHUAX, OyAyT
MIPE/ICTAaBJICHBI B CAMOCTOSITENILHBIX U KOHTPOJIBHBIX paboTax.

CamocrositenbHass paboTa CTYAEHTOB MO AUCHMIUIMHE «Teopusi OTpacieBbIX PHIHKOB.
[IpakTuueckoe mpuioxeHue (Ha aHTTUHCKOM SI3bIKE)» MPEIoJiaraeT: 03HAKOMIIEHHUE C TEKCTaMH
HAY4YHBIX pabOT, aHATMUTUYECKUX HCCIICIOBAHUI C IENBIO MOCIEAYIONIET0 00CYKICHHUS B paMKax
TPYNNOBBIX JTUCKYCCHM Ha CEMHUHAPCKUX 3aHATUSAX, YTAyOJIeHHOE H3yuyeHHue TeM Yy4eOHOM
nporpamMmmal. HpOBepKa BBIINIOJIHCHUA SaIIaHI/Iﬁ OCYHICCTBJIACTCA KaK Ha CCMHHAPCKHUX 3aHATHUAX B
(¢bopMe YCTHBIX BBICTYIUICHUH U HX OOCYXXJEHHS, TaK U C MOMOIIBIO MUCbMEHHOW KOHTPOJIbHOMN
paboTHI.

CamocTtosaTenbHass paboTa CTYIEHTOB TMOJpa3yMeBaeT, B TOM uucie U paboTy moj
PYKOBOJICTBOM TIpeTioaBaTeiel (KOHCYIbTAINN), a TAK)KE WHAUBUIYAIbHYIO Pa0OTy CTYJICHTOB.

JlononHuTenbHBIMU  (DOpMaMU  CaMOCTOSITENIbHOM  paboOThl  SIBIAIOTCS  TPYIIIOBBIE U
WHAUWBUAYAJIbHBIC 3alaHUA. Onn CHOCO6CTBYIOT OBJIAICHUIO NPAKTUYCCKNMH HAaBbIKAMU I10 TEMaM
TUCHUIUTMHBL. KOHTPOJIb OCYIIECTBISETCS HAa MPAKTUYECKOM 3aHSATHU B (JOpME YCTHOTO OIpoca,
JUCKYCCHH, BBIMIOJIHEHMSI TMCbMEHHOM KOHTPOJIbHOU paboThl, TECTA U T.1.

CamocTtosTenbHass paboTa CTYIEHTOB, HamlpaBlieHHas Ha yriyOJeHHe M 3aKperyieHUe
3HAaHUH CTYJIEHTa, pa3BUTHE MPAKTHUECKUX YMEHUI, BKIIOYAET B ceOs:

-TIOMCK U 0030p JIUTEPaTyphl U JIEKTPOHHBIX UCTOYHUKOB HH(OPMALINU 110 UHAUBUTYaTEHO
3aJlaHHOM MpodieMe Kypca,

- BBIIIOJIHEHUE JOMAILIHUX 3aJJaHUH,

- IEPEBOJ TEKCTOB C MHOCTPAHHBIX S3BIKOB,
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- U3yY€HHUE TeM, BHIHECEHHBIX Ha CAMOCTOSTENIbHYIO IPOPAOOTKY,
- IOJArOTOBKY K MPAaKTUYECKUM 3AHATHUAM,

- HalTMCaHHUE 9CCC,

- IOATOTOBKY K 3a4eTHOU padoTe.
KoHTponbs caMmocTosITeIbHOM paboThl OCYIIECTBISETCS B BUE:
- IPOBEPKHU BBITIOJHEHUS! KOHTPOJIBHBIX padoT,

- YCTHBIX OIIPOCOB,

- aHaJIn3a BBIITOJIHEHHUA CaMOCTOATCIBHBIX JOMAIITHHUX ?,allaHI/II\/’I.
Taxoxe camocTosTelIbHas pa60Ta npeamoJgaract HalmmCaHnue 3CCe 1Mo BBI6paHHOﬁ TEMCE. HCJ'IL

9CC€ — KpaTKasa CaMOCTOATCIbHAA pa60Ta 1o KOHerTHOfI TEMATUKE C HCIIOJB30BaHUEM

JEKIIMOHHOT'O MaTepHaja, OCHOBHOW U JIOMOJHUTENIbHOW JUTEpaTyphl (B TOM YHCie HalJCHHOW U
Mo100paHHOW MHAMBUAYaIbHO, HE BKIIIOUEHHOM B CIHMCOK HCTOYHHMKOB JAHHOTO MpakTHKyMma),
NpUOOpETeHHEe TeM CaMbIM OIPENEIEHHOrO0 HaBblKa B OOOOINEHMHM M M3JIOKEHUHM MaTepuayia Mo
3aJaHHBIM HaIlpaBlIeHUsAM. B oOmem ciaydae scce ckilaabiBaeTcsa U3 peepupoBaHus, T.€. YMEHUS

BBIACINUTD U KPATKO HU3JIOKUTH OCHOBHBIC ITOJIOKCHUSA BCeit TEMbI;, U3 AaHHOTUPOBAHU:, T.C. YMCHUMA
JIJAKOHUYHO He€peaaTb COACPKAHHUE C BJICMCHTAMM aHAIM3a U KpI/ITH‘IGCKOfI OLICHKHN HpO‘IHTaHHOf/’I
JIMTCPATYPBI; U U3 PCLUCH3UPOBAHUSA, T.C. YMCHUA COCTAaBHUTH OT3bIB, BbIPA3UTb CBOC OTHOUICHUC,

JaTh apryMEHTUPOBAHHOE CYKJI€HHUE 110 TIOBOY MPOYUTAHHOTO U M3JI0KEHHOT'0 MaTepuania.

6. OBPA3OBATEJIBHBIE U HTHOOPMAIIMOHHBIE TEXHOJIOT U

6.1. O0pa3oBaTe/IbHbIE TEXHOJIOTUH

Tabanna S — OOpa3oBaTenbHbIe TEXHOJOTHH, MCIOJb3yeMble NPH Ppeaju3aluu y4eOHbIX

3aHATHI
Pa3nen, rema ®dopma y4eOHOTO 3aHSATHUS
TUCITUTITUHBI (MOTYJIS) Jlekums [IpakTrueckoe JlaGopaTtopHas
3aHITHE, CCMHUHAP paboTa
The Welfare Economics of He TemaTnueckue He
Market Power MPEeyCMOTPEHO JIUCKYCCHH, MPEeLyCMOTPEHO
aHaju3
KOHKPETHBIX
CHUTYyaIlu
Theory of the Firm He Temartuueckue He
MIPETYCMOTPEHO JIUCKYCCHUH, MIPETYCMOTPEHO
aHaIIN3
KOHKPETHBIX
CHUTYyaIui
Market Power and Dominant He TemaTnueckue He
Firms IPEyCMOTPEHO JTUCKYCCHH, IPEyCMOTPEHO
aHaJu3
KOHKPETHBIX
CHUTYyaIluH
Non-Linear Pricing and Price He Temartuueckue He
Discrimination MIPETYCMOTPEHO JTUCKYCCHH, MIPETYCMOTPEHO
aHaIN3
KOHKPETHBIX
CUTYyallui
Market Power and Product He TemaTtuyeckue He
Quality MPETYCMOTPEHO JIMCKYCCHUH, MPETYCMOTPEHO
aHaIN3
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KOHKPETHBIX
CHUTYyaIlui

Game Theory (Static games)

He
MIPETYCMOTPEHO

TemaTtuueckue
JIUCKYCCHH,
aHaju3
KOHKPETHBIX
CUTYyaIui

He
MIPETYCMOTPEHO

Classic Models of Oligopoly

He
IPEyCMOTPEHO

TemaTnueckue
JIUCKYCCHUH,
aHaIu3
KOHKPETHBIX
CHUTYyaIlui

He
IPEyCMOTPEHO

Game Theory (Extensive Forms)

He
MIPETYCMOTPEHO

TemaTudeckue
JUCKYCCHUH,
aHau3
KOHKPETHBIX
CUTYyaIui

He
MIPETYCMOTPEHO

Dynamic Models of Oligopoly

He
MPETYCMOTPEHO

Tematuueckue
JIUCKYCCHH,
aHaJn3
KOHKPETHBIX
CUTYyaIui

He
MIPETYCMOTPEHO

Product Differentiation

He
MPeyCMOTPEHO

TemaTudeckue
JIACKYCCUH,
aHanu3
KOHKPETHBIX
CHUTYyaIui

He
MpeyCMOTPEHO

An Introduction to
Behavior

Strategic

He
MIPETYCMOTPEHO

TemaTtuueckue
JIUCKYCCHH,
aHaju3
KOHKPETHBIX
CUTYalui

He
MIPETYCMOTPEHO

Entry Deterrence

He
PEyCMOTPEHO

TemaTudeckue
JUCKYCCHUH,
aHaIu3
KOHKPETHBIX
CHUTyaIui

He
PeyCMOTPEHO

Strategic Behavior: Principle

He
MIPETYCMOTPEHO

TemaTtuueckue
JIUCKYCCHH,
aHaju3
KOHKPETHBIX
CUTYalui

He
MIPETYCMOTPEHO

Strategic Behavior: Application

He
PEeyCMOTPEHO

TemaTndueckue
JUCKYCCHUH,
aHaIu3
KOHKPETHBIX
CHUTYyaIlu

He
PEyCMOTPEHO

6.2. UnpopManiuoHHbIE TEXHOJIOTHH

WCTIOJIb30BaHNE BO3MOXKHOCTEH MHTEpHETa B y4eOHOM mporiecce (MCIOIb30BaHUE caifTa
npenojaBaTens (pacchbuika 3aJaHHi, MPEIOCTaBICHUE BBIOJHEHHBIX PadOT, OTBETHl HA BOMPOCHI,
03HAKOMJICHHE O0YYaIOIUXCsI C OIICHKAMH H T. 11.));
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UCIOJb30BAHUE  DJJEKTPOHHBIX Y4YeOHHMKOB M  PA3IMYHBIX CalTOB (Hampumep,
3JIEKTPOHHBIX OMOIMOTEK, KYPHAJIOB | T. JI.) KaK HCTOYHUKOB MH(OpMAIHH;

HCII0JIb30BaHNE BO3MOKHOCTEN JIEKTPOHHON NOUYTHI IIPEToAaBaTes;

HCIIOJIb30BaHUE CPE/ICTB MpEJCTaBlIeHNs yueOHO nHpopMauu (3JIEKTPOHHBIX YUEOHBIX
nocoObuif M TPAKTUKyMOB, TPHUMEHEHHE HOBBIX TEXHOJOIMH ISl MPOBEACHUS OYHBIX
(TPaMIMOHHBIX) JIEKIMA U CEMUHAPOB C UCIIOJIL30BAHUEM NPE3EHTALMMI U T. J1.);

UCIOJIb30BAHNE UHTETPUPOBAHHBIX 00pa30BaTEIbHBIX CPEJl, i€ INIABHOW COCTABIISIONIEH
ABIIIIOTCA HE TOJIBKO TPUMEHSIEMble TEXHOJOTHMH, HO U CoJep)KaTeiabHash YacTh, T. €.
MH(OPMALMOHHBIE pecypchl (AOCTYI K MHPOBBIM MH(OPMAIIMOHHBIM pecypcaM, Ha 0aze KOTOpPBIX
CTPOMTCs y4eOHBIH IpoLecc);

UCIOJb30BaHUE BUPTyanbHOM oOyuwatomeit cpensl (LMS Moodle «3nekrponHoe
o0Opa3oBaHMe») WM UHBIX UHPOPMAIIMOHHBIX CHCTEM, CEPBHCOB U MECCEHIKEPOB.

6.3. IlporpamMHOe oOecnmeuyeHHe, coBpeMeHHbIe NMpPodecCHOHAIbHBbIE 0a3bl JAHHBIX
U MHGOPMAIMOHHBbIE CIIPABOYHbIEC CHCTEMBbI

6.3.1. IlporpammHoe o0ecrnievyeHmne

HaunmenoBanue nmporpaMMHOTO

Ha3znauenue
obecrnieueHus
Adobe Reader ITporpamma st IpOCMOTpPa JIEKTPOHHBIX JIOKYMEHTOB
[Tnardopma TUCTAaHITMOHHOTO BupryansHas ofyuatomas cpesa
obyuennss LMS Moodle
Mozilla FireFox bpayzep
Microsoft Office 2013, [Taket oducHBIX MporpamMm

Microsoft Office Project 2013,
Microsoft Office Visio 2013

7-zip ApxuBaTop

Microsoft Windows 7 OrneparnoHHasi cucTeMa
Professional

Kaspersky Endpoint Security CpeacTBO aHTHBUPYCHOM 3alUTHI
Google Chrome Bbpay3zep

Notepad++ TeKkCcTOBBIN PEIAKTOD

OpenOffice ITaket opuCHBIX IporpaMm
Opera bpay3zep

6.3.2. CoBpemeHHble TmpodeccHOHAIbHbIE ©0a3bl JAHHBIX W HHPOPMAIMOHHbIE
CIIPABOYHbIE CHCTEMBbI

- YHuBepcaibHasg  CIPaBOYHO-MH(OPMALMOHHASI  IOJIHOTEKCTOBass 0a3a  JaHHBIX
nepuoanueckux uzaanuit OO0 «MBUCH

http://dlib.eastview.com

Nwms nonw3oarens: AstrGU

[Tapons: AstrGU

- DJEeKTpOHHBIE BEpCUM IEPUOAMYECKMX  H3JaHUM, pa3MEILEHHbIE Ha  caiire
MH(POPMAITMOHHBIX PECYPCOB

www.polpred.com

- DnextpoHHbii katanor Hayunoit 6ubmmotexkn AI'Y Ha 6aze MARK SQL HITO «Uudopm-
CUCTEM»

https://library.asu.edu.ru/catalog/

- OnekTpoHHbIN KaTanor «Hayunsle xxypHainsl AI'Y»

https://journal.asu.edu.ru/

- KopnopatuBHblif mpoekT Acconuaniyl peruoHaANbHBIX OMOIHMOTEYHBIX KOHCOPIIUMYMOB
(APBUKOH) «MexpernonanbHas aHanutudeckass pocnuch crarein» (MAPC) — cBonnas 6aza
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JaHHBIX, COAEpXKalllasi MOJIHYK aHAJIWTHYEeCcKylo pocnuch 1800 Ha3BaHUI >KypHAJIOB IO Pa3HbIM
oTpacyisM 3HAaHUW. YYacTHUKM MPOEKTa TMPEAOCTaBISIIOT JpYr JpYry OSJIEKTPOHHBIE KOIUU
OTCKaHUPOBAHHBIX CTaTe M3 KHUI, COOPHUKOB, >KypHAJIOB, coJepXkalmxcsi B (oHmax uxX
OUOINOTEK.

http://mars.arbicon.ru

7. ®OHJ]I OHEHOYHBIX CPEACTB AJI5s1 NPOBEAEHUS TEKYIIEI'O KOHTPOJIA
N MMPOMEXYTOYHOU ATTECTAIUU ITO JUCHUIIJIMHE (MOJAYJIIO)

7.1. lacnopT ¢oHIa OLIEHOYHBIX CPEICTB

[Ipu mpoBeAeHUM TEKYIIETO KOHTPOJISI M MPOMEKYTOUYHOM aTTECTallud IO TUCHIUTIINHE
(Mmomymio) «Teopusi oTpacieBbiX PHIHKOB. [IpakTHueckoe mpuiokeHue (Ha aHTIUHCKOM SI3BIKE)»
npoBepsieTcsi CHOPMUPOBAHHOCTh Yy OOYYAIOIIMXCS KOMIIETCHIIMH, YKa3aHHBIX B pasaene 3
HACTOSIIEH TMPOrpaMMBbL. DTaHOCTh (POPMHUPOBAHUS JAHHBIX KOMIIETEHIIMI B MPOIECCE OCBOCHUS
00pa3oBaTeNbHON MPOTrpaMMBbl  OMPEACISIETCS  TOCJIEIOBATEIFHBIM  OCBOCHHEM JIHUCIHIUIUH
(Mongynel) W TMPOXOXKISHUEM TMPAKTHUK, aB TPOIECCe OCBOCHUS MUCHUIUIMHBI (MOOYNS) —
MOCJEI0BATEIbHBIM JIOCTIKEHUEM PE3YJIbTATOB OCBOEHHSI COJIEPKATENbHO CBA3aHHBIX MEXITY CO0Oi
paszenoBs, TEM.

Tabanna 6 — CooTBeTcTBHE pa3aesioB, TeM NTHCHUIVIMHBI (MOAYJs), Pe3yIbTATOB 00y4YeHHs
10 JMCHHUIIHHE (MOIYJI10) i OlIeHOYHBIX CPeCTB

KonTponupyewmslit pa3uen, TeMa aucuuiindel | Koa KoHTponupyemoin HaumenoBanwue
(MomyIist) KOMIICTEHITUH OIICHOYHOTO CPECTBA

The Welfare Economics of Market Power VK-4, YK-10 Jluckyccus

Theory of the Firm VK-4, VK-10 Jluckyccus, scce
Market Power and Dominant Firms VK-4, YK-10 Juckyccus, acce
Non-Linear Pricing and Price Discrimination | YK-4, YK-10 Jluckyccus, scce
Market Power and Product Quality YK-4, YK-10 Juckyceust

Game Theory (Static games) VK-4, YK-10 JHuckyccust

Classic Models of Oligopoly YK-4, YK-10 Jluckyceust, acce
Game Theory (Extensive Forms) VK-4, YK-10 Juckyccust
Dynamic Models of Oligopoly YK-4, YK-10 Jluckycewus, scce
Product Differentiation VK-4, VK-10 Jluckyccus, cce
An Introduction to Strategic Behavior VK-4, VK-10 Jluckyccust

Entry Deterrence VK-4, YK-10 Juckyccus
Strategic Behavior: Principle VK-4, VK-10 Juckyccus
Strategic Behavior: Application VK-4, VK-10 Jluckyccust, acce

7.2. Onucanue mnoka3atesnell M KpPHUTEPHEB OLCHUBAHMSA KOMIICTCHIWH, ONMMCaHHUE

IIKaJ ONCHUBAHUA

Ta6auna 7 — [loka3aTe/ i OeHNBaHUS Pe3yJIbTATOB 00yYeHHsl B BH/ie 3HAHUI
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IIxana
Kputepuu onenuBanust
OILICHUBAHUS
JEMOHCTPHUPYET TIyOOKOe 3HAaHHE TEOPETHUYECKOTO MaTepuana, yMEHUe
5 000CHOBAaHHO M3JIaraTh CBOM MBICJIH IO 00CYK/IaeMbIM BOIIPOCAM, CIIOCOOHOCTD
«OTJIMYHO» | MOJIHO, NMPABWJIBHO M apryMEHTUPOBAHHO OTBEYATh HA BONIPOCHI, MPUBOJIHMTH
MPUMEPHI
4 JIEMOHCTPHUPYET 3HAHUE TEOPETUYECKOTr0 MaTepualia, €ro MOoCJIeI0BATENbHOE
«XOPOIION U3JI0KEHUE, CIIOCOOHOCTh TMPUBOIUTH TPHUMEPHI, JOMYCKACT EIUHUYHBIC
OIIMOKH, HCIIPABJIsIEMbIE ITOCIIE 3aMEUaHMs IPENoaaBaTelIs
3 JEMOHCTPUPYET  HEMojJHoe, (parMeHTapHoe 3HAaHHE  TEOPETHUYECKOTO
«yIOBICTBODH MaTepuana, TpeOyrolmee HABOIANIMX BOIPOCOB MPEMOAABATENs, JOMYCKAeT
TOIBHON CYLIECTBEHHbIE OMIMOKM B €ro HU3JI0KEHUHU, 3aTPYJIHSETCS B IMPUBEICHHUU
PUMEPOB M POPMYIIHMPOBKE BHIBOJIOB
2 JEMOHCTPHUPYET CYIIeCTBEHHbIE MPoOesbl B 3HAHUH TEOPETUUECKOT0 MaTepHara,
«HEYJIOBJIETBO | HE CIOCOOEH €ro W3JOXKUTh W OTBETUTh HAa HABOMSMIINE BOMPOCHI
pUTEIIHLHOY MpenoiaBaTesis, He MOXKET IIPUBECTH IPHUMEPHI

Taoauna 8 — Iloka3zare/in oeHMBAHUS Pe3YyJIbTATOB 00y4eHNsl B BUle YMEHHH U BJIAJICHU I

Ixana
Kpurepuu onenuBanus
OLICHUBAHUs
JEMOHCTPUPYET CIOCOOHOCTh NMPHUMEHATh 3HAHHE TEOPETHUECKOro Marepuana
5 [P  BBINOJHEHUU 3aJaHUN, IIOCJIEIOBATEIbHO W IPABWIBHO BBIIOJIHAET
«OTIMYHO» | 3a/laHus], yMeeT OOOCHOBAHHO M3JIaraTh CBOM MBICIM M J€JIaTh HEOOXOIMMBbIE
BBIBOJIbI
JIEMOHCTPUPYET CIOCOOHOCTh NMPHUMEHATh 3HAHHE TEOPETHUECKOro Marepuana
4 IIPY  BBIOJHEHUU 33J@HUW, IIOCJIEOBATEIbHO M IIPABWIBHO BBIIOJHAET
«XOpOIIOy 3aJaHus, yMeeT 0OOCHOBAHHO HM3JaraTb CBOM MBICIM U JejaTh HEO0OXOAHUMBIE
BBIBOJIbI, JOINYCKAaeT €AMHUYHBIC OMIMOKH, WCTpABISIEMbIC IOCIIE 3aMEYaHUs
IpenoaaBaTesis
3 ZIEMOHCTPHPYET OTHENBHBIC, HECHCTEMATH3HPOBAHHbIE HABBIKH, HCIBITEIBACT
«yIOBICTBODH 3aTpyAHEHUS U JIONYyCKAeT OIIMOKHM IpU BBINOJHEHUM 33JaHUM, BBIOJHSIET
TebHOY 3aJaHle 10 TMOJICKAa3Ke TNpenojaBaress, 3aTpyaHseTcs B (QopMylInpoBke
BBIBOJIOB
2 HE CIT0COOEH MPABUIIBHO BBITIOJHUTH 3a/1aHUS
«HEYIOBIIETBO
PHUTEIBHO»

KpI/ITepI/II/I OLCHUBAHUSA NUCKYCCUU:

" OTIIMYHOY» — CTYZICHT aKTUBHO y4YacCTBYET B Y4eOHOW JUCKYCCHH, NMPABHIBLHO OTBEYACT
Ha ITOCTABJICHHBIC BOMPOCHI, YMEET OIEHUBATH (DAKTHI, CAMOCTOSTEIIBHO PACcCyXkIaeT, OTINIACTCS
CHOCOOHOCTBIO 00OCHOBATH BBIBOJIBI U Pa3bACHATH UX B JIOTHYECKON MOCIIEN0BATENBHOCTH;

«XOpOIIIO» — CTYACHT AaKTUBHO YYacTBYeT B Yy4YeOHOW MIWCKYCCHH, JOITyCKaeT
HE3HAYUTEIIbHBIC ONIMOKU TPU OTBETEC HA MOCTABJICHHBIC BOIPOCHI, YMEET OLCHUBATH (haKTHl,
CaMOCTOSITEIILHO PACCYXKIAeT, OTINYACTCS CIOCOOHOCTHIO OOOCHOBATH BBIBOJBI U Pa3bICHATH
UX B JIOTHYECKOM TOCIIE0BATEIILHOCTH, HO JIOMYCKAET OTJCIbHBIC HETOUHOCTH;

) «YIOBIICTBOPUTEIIBHO» — CTYJIEHT HE TMPOSIBISICT AKTUBHOCTH B JIUCKYCCHH,
JIOMTyCKaeT MHOTOYHUCIICHHBIE OIMUOKHM TIPU OTBETE HAa IOCTABJICHHBIC BOIPOCHI, HE MOXKET
TEOPETUYECKH OOOCHOBAaTh HEKOTOPHIC BBHIBOJBI, B PACCYXICHUSAX JOIYCKAIOTCS CEPhE3HBIC
OLIHOKH.

«HEYJOBIICTBOPUTEIIBHO» — CTYJCHT HE Yy4YacTBYeT B JTUCKYCCHH, HE MOXET
MPAaBUJIBLHO OTBETUTh HA TOCTABJICHHBIC BOIPOCHI, OTCYTCTBYET WJIM UMEETCS JIUIIb YACTUIHOE
MIPEJICTABIICHHUE O TEME, B PACCYKICHUAX JIOMYCKAOTCS CEPhE3HBIC OMIHOKH.
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Kpurtepun oueHnBanus 3cce

- «OTnuYHO»:

1) Bo BBeaeHUHN 4YeTKO CHOPMYJIMPOBAH TE3UC, COOTBETCTBYIOMIMIA TEME 3CCE, BBINOJHEHA
3aJaua 3auHTEpPeCcOBaTh YUTATEIS;

2) mpoCeKUBAETCS YETKOE JIeJIeHHE TEeKCTa Ha BBEJIEHUE, OCHOBHYIO YacTh U 3aKJIIOUYEHHUE;

3) B OCHOBHOM 4acTH JIOTUYHO, CBSA3HO U MOJHO JI0KA3bIBAETCS BBIBUHYTHIN TE3HC;

4) 3aKIIOYEHUE CONCPKHUT BBIBOABI, JIOTMYHO BBITEKAIONIAE W3 COJEPYKAHHWS OCHOBHOM
4acTu;

5) nmpaBUIBHO (YMECTHO M IOCTATOYHO) UCIIOJIb3YIOTCS Pa3HOO0pa3Hble CPECTBA CBS3H;

6) IEMOHCTpPUpPYET NOJHOE MOHMMaHHe NpoOieMbl. Bce TpeGoBaHus, mpeabsBisieMble K
3aJJaHHIO, BHITTOJTHEHBI.

- «XOpoLIOo»:

1) Bo BBeJEHUH YETKO CPOPMYIUPOBAH TE3UC, COOTBETCTBYIOLIUI TEME 3CCE€, B U3BECTHOM
Mepe BBINOJIHEHA 33/]aua 3aUHTEPECOBaTh YUTATEIIS;

2) B OCHOBHOH 4YacTH JIOTUYHO, CBSI3HO, HO HEIOCTaTOYHO IIOJHO JIOKA3bIBACTCS
BBIIBUHYTHIN TE3UC;

3) 3aKirOueHHE COJCPKHUT BBIBOJBI, JIOTUYHO BBITCKAIOIINE W3 COJEPKAHHUS OCHOBHOM
4acTy;

4) yMECTHO UCNONb3YIOTCS pa3HOOOpa3HbIE CPE/ICTBA CBS3H.

- «YZIOBJIETBOPUTEIIBHON:

1) Bo BBeAeHUH Te3UC CHOPMYIUPOBAH HEUETKO UJIM HE BIIOJIHE COOTBETCTBYET TEME 3CCE;

2) B OCHOBHOW YAacTH BBIABUHYTHIH TE3MC JIOKA3bIBAETCS HEIOCTATOYHO JIOTMYHO
(yOenuTenbHO) 1 TTOCIIEI0BATEIBHO;

3) BBIBO/IbI HE TIOJTHOCTBIO COOTBETCTBYIOT CO/IEP’KaHUIO OCHOBHOM YacT;

4) HEeIOCTATOYHO WJIH, HA00OPOT, U30BITOYHO MCIIONIB3YIOTCS CPEACTBA CBS3H;

5) s13bIK pabOoTBHI B 1I€JIOM HE COOTBETCTBYET YPOBHIO CTYJICHUECKON PaOOTHI.

- «HE YJIOBJIETBOPUTEIHHO»:

1) BO BBEICHUHU TE€3UC OTCYTCTBYET MJIM HE COOTBETCTBYET TEME ICCE;

2) B OCHOBHO# YaCTH HET JIOTMYHOTO TIOCJIEI0BATEIIEHOTO PACKPBITUS TEMBI,

3) BBIBO/IbI HE BBITEKAIOT U3 OCHOBHOW 4acTH;

4) cpencTBa CBS3U HE 00ECTIEUNBAIOT CBA3ZHOCTh M3JI0KEHNS,

5) OTCYTCTBYET JleJIeHue TeKCTa Ha BBEJCHNE, OCHOBHYIO YacTh U 3aKJIIOUEHHE;

6) s3bIK paOOTHI MOKHO OLEHUTH KaK «IIPUMUTHUBHBIN».

Kputepun oneHk# 3a4eTHOI padoThI
«OTJIMYHO» — MIPABWIBHBIX 0TBETOB OT 90-100%;
«XOpOILI0» — MPaBUIbHBIX OTBETOB OT 70-90%;
«YJOBJIETBOPUTEIBLHO» — IPaBUIBHBIX OTBETOB OT 40-70%.
«HEYAOBIETBOPUTEIBHO» — MPABUIIbHBIX 0TBETOB MeHee 40%.

7.3. KoHTpoJsibHbIE 3aJlaHHSl W HWHbIE MAaTEePHAJbl, He00XOAUMbIE /A OIEeHKH
pe3yabTaToB 00y4eHHs MO AUCHUILIHHE (MOIYJII0)

Tema 1. «The Welfare Economics of Market Power»

Bonpochl 17151 AUCKYCCHH.

1. What are opportunity costs of a firm? Why is it necessary to take into account opportunity costs
of making decisions?

2. What is economy of scale? How is economy of scale connected with return to scale?

3. What is the difference between fixed and sunk costs?

4. What is the role of sunk costs of making economic decisions?
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5. Describe the hypothetical monopoly test (or SSNIP test) that is used to define a market.

6. Give the definitions of the Lerner and Herfindahl indices. What are these measures used for?

7. Provide an explanation for why profits might not be a good indicator for deadweight loss.
What about if profits were persistently positive in an industry?

8. Under what circumstances would a large market share identify market power? Under what
circumstances is a large market share not a good indicator of market power?

9. Does a very high long-run elasticity of demand in an industry necessarily imply that there is
no public policy issue?

Tema 2. «Theory of the Firm»

Bonpoch! 1151 THCKYCCHH.

1. What are the goals of the managers? What is the conflict of owners and managers?

2. What is a principal-agent problem? In what ways can this conflict be mitigated?

3. What is the difference between horizontal and vertical boundary? Give some real examples.

4. Describe a hold-up problem.

5. How can a hold-up problem be solved?

6.Two parts in an automobile taillight are the plastic exterior cover and the light bulb. Which
of these parts is a car company more likely to manufacture in-house? Why?

7. The Smart car was created as a joint venture between Daimler-Benz AG and Swatch Group
AG. Although Micro Compact Car AG (the name of the joint venture) was originally jointly owned,
in November of 1998 Daimler-Benz AG took complete control by buying Swatch's share. The deal
put an end to a very stressed relationship between Daimler and Swatch. What does Section 2.2
suggest as to what the sources of strain might have been?

Tembl a5 3cce.

1. A comparative analysis of methods for assessing market boundaries and the conditions for
the effective use of each of them.

2. Select an industry and study the factors that determine the firm’s market power in this
industry.

3. Select a firm or industry and describe its vertical and horizontal boundaries

Tema 3. «Market Power and Dominant Firms»

Bomnpoch! 1151 THCKYCCHH.

1. What types of entry barriers are there? Describe them in short.

2. What is a dominant firm? Why does a dominant firm exist?

3. What factors determine the market power of the dominant firm?

5. Why is it unlikely that copyright protection would usually lead to significant market
power?

6. Explain why Intel might have an incentive to rapidly introduce new versions of its
MmiCroprocessors.

7. Could an entry barrier ever be socially beneficial?

8. Comment the following statement: “The degree of market power is limited by the elasticity
of demand”.

9. What will happen with dominant firm if competitive fringe can reduce its production costs?

Tembl 1715 3cce.
1. The dominant firm in the Russian economy.

2. Select an industry and analyze existing entry barriers.

Tema 4. «Non-Linear Pricing and Price Discrimination»
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Bonpocsl 11 JHCKYCCHH.

1. What is price discrimination? What are motives for price discrimination?
2.What are necessary conditions for price discrimination?

3. Describe first-degree price discrimination?

4. Describe third-degree price discrimination?

5.Can third-degree price discrimination be effective if the different groups of consumers have different lev
6.Describe optimal two-part tariff when consumers have identical demand curves. You should use the grag

7. How can a firm determine an optimal two-part tariff if it has two customers with different
demand curves?

8. How does tying differ from bundling? Why might a firm want to practice tying?

9. You are an executive for Super Computer, Inc. (SC), which rents out super computers. SC
receives a fixed rental payment per time period in exchange for the right to unlimited computing at
a rate of P cents per second. SC has two types of potential customers of equal number — 10
businesses and 10 academic institutions. Each business customer has the demand function Q =10 -
P, where Q is in millions of seconds per month; each academic institution has the demand Q = 8§ - P.
The marginal cost to SC of additional computing is 2 cents per second, regardless of volume.

a.Suppose that you could separate business and academic customers. What rental fee and usage fee would
b.Suppose you were unable to keep the two types of customers separate and charged a zero rental fee. Wh:
c.Suppose you set up one two-part tariff—that is, you set one rental and one usage fee that both business a

Tembl 111 3cce.
1. Price discrimination in the Russian economy (use the example of any industry)
2. Strategy and tactics of using price discrimination in the practice of foreign firm.

Tema 5. «Market Power and Product Quality»

Bonpocs! 1J1s1 AMCKYCCHH.

1. What is asymmetric information? Why does asymmetric information exist?

2. Why does asymmetric information lead to market failure at the perfectly competitive
market?

3. The problems associated with asymmetric quality information have different meanings for
different types of markets: search goods, experience goods, credence good. What are search,
experience and credence goods?

4. What is “The market of Lemons”? Why is there adverse selection?

5. What types of solving this problem are there?

6. What is moral hazard?

7. Explain why there are a lemons problem at the insurance market. How can this problem can
be solved?

8. An insurance company is considering issuing three types of fire insurance policies: (i)
complete insurance coverage, (ii) complete coverage above and beyond a $10,000 deductible, and
(ii1) 90% coverage of all losses. Which policy is more likely to create moral hazard problems?

Tema 6. «Game Theory (Static games)»

Bomnpocs! qis 1uckyccuu.

What is a game? What are basic elements of game?

Describe different types of games.

Why are rationality and common knowledge important in game-theoretic analysis?
Describe normal representation of a game.

What is a Prisoner’s Dilemma?

What is a dominant strategy? Why is an equilibrium stable in dominant strategies?

ANl e
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7. Explain the meaning of a Nash equilibrium. How does it differ from an equilibrium in
dominant strategies?

8. A game has two players. Each player has two possible strategies. One strategy is called
“cooperate"”, the other is called “defect". Each player writes on a piece of paper either a C for
cooperate or a D for defect. If both players write C; they both get a payoff of $100. If both players
defect they each get a payoff of 0. If one player cooperates and the other player defects, the
cooperating player gets a payoff of S and the defecting player gets a payoff of T. find conditions for
C and D in order to defect will be a dominant strategy for both players.

9. Describe The Tragedy of the Commons in terms of game theory.

Tema 7. «Classic Models of Oligopoly»

Bomnpocs! 1i1s 1ucKyccum.

1. What is oligopoly? What is the main feature of it?

2. What are examples of oligopoly?

3. Describe Cournot model.

4. Describe Bertrand model. Why is Bertrand equilibrium called a Nash equilibrium? Why is
the equilibrium stable? Why don’t the firms raise prices to the level that maximizes joint profits?

5. According to Bertrand’s theory, price competition drives firms’ profits down to zero even
if there are only two competitors in the market. Why don’t we observe this in practice very often?

6. What do the Cournot and Bertrand models have in common? What is different about the
two models?

7. Which model (Cournot, Bertrand) would you think provides a better approximation to each
of the following industries: oil refining, internet access, insurance. Why?

8. Airfares between London and New York appear to be well above average cost and the
handful of incumbents are making money hand over fist. Your cousin enters with a discount airline,
but soon runs into financial difficulties when the incumbents match his fares. He complains to you
about their predatory behavior and asks you to prepare an antitrust monopolization suit. Why might
you disagree with his analysis? Are preentry prices the right prices for determining the profitability
of entry?

Tembl a1 3cce.

1. Strategic behavior of firms in the market

2. Problems of oligopolies in Russia

3. Analysis of the behavior of oligopolsites in Russia (use any industry)

Tema 8. «Game Theory (Extensive Forms)»

Bomnpocsl 11 JMCKYCCHH.

1. What is a sequential game? Describe extensive form of these games.

2. Using an example, explain the principle of backward induction.

3. Why is it profitable for a player to make a credible commitment?

4. In this chapter it was consider that extensive games can display decision making in the
long and short term. As a rule capacity decisions are a firm’s long-term choice, whereas pricing is
typically a short-run variable. Consider the following industries: book publishing, software,
insurance, oil production, car production, education. Explain which variable (capacity or price) will
be determined for the long term, and which for the short term.

5. What are repeated games?

6. What is a “tit-for-tat” strategy? Why is it a rational strategy for the infinitely repeated
prisoners’ dilemma?
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7. Consider a game in which the prisoners’ dilemma is repeated 10 times and both players
are rational and fully informed. Is a tit-for-tat strategy optimal in this case? Under what conditions
would such a strategy be optimal?

8. Why did American Airlines propose this fare structure, and what made it so attractive to
the other airlines? Was it really to "help reduce fare confusion"?

9. Why couldn’t P&G and Kimberly-Clark cooperate? Why couldn’t they use tit-for-tat
strategy?

Tema 9. «Dynamic Models of Oligopoly»

Bonpocsl 11 JHCKYCCHU.

1. What is collusion? Why do firms decide to collude? Why can’t firms collude in Bertrand
and Cournot models?

2. What are differences between explicit and tacit agreements to collude? How can firms
exceed an agreement in conditions of tacit collusion?

3. What is a grim strategy?

4. What factors determine discount factor?

5. Describe factors that complicate reaching an agreement.

6. Why is it profitable to use trigger price strategy even in the period of demand drop?

7. Why is it difficult to reach an agreement when there are many firms at the market?

8. Explain why collusive pricing is difficult in one-period competition and easier when firms
interact over a number of periods.

9. What is most-favored-customer clauses?

Temsl 1u1s 3cce.

1. The world practice of creating and operating cartels (use any cartel except OPEC)
2. Cartels and their features in the Russian economy

3. Regulation of cartels in the Russian Federation

Tema 10. «Product Differentiation»

Bonpocs! puis Auckyccum.

1. What is product differentiation? Why do firms differentiate their product?

2. What are types of product differentiation? What are there models of product
differentiation?

3. What are the assumptions of monopolistic competition? Why tasty for variety is good?
What is elasticity of substitution?

4. What are two conditions for free-entry equilibrium?

5. Describe monopolistic competition model. Show on the graph how a firm choice of
equilibrium output and price. Show on the graph of monopolistic competition how differentiation
degree influences on the price set by the firm.

6. What is address model? What does it describe?

7. Describe a simple address model.

8. Why do two firms locate together? What is a principle of minimum differentiation?

9. Describe an address model with sequential entry.

Tembl a5 3cce.

1. Advertising as a method of competition in the differential market product.
2. The strategic behavior of companies with a differentiated product.

3. Features of product differentiation in the industry (choose any industry)
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Tema 11. «An Introduction to Strategic Behavior»

Bonpocsl 11 JHCKYCCHH.

1. What is a strategic behavior? What types of are there? Gives some examples of these types.

2. What conditions must be met for a noncooperative strategy to be successful?

3. What is the difference between strategic and tactical choices?

4. Describe the Stackelberg game.

5. Explain the role of the commitment.

6. What is the relationship between commitment and renegotiation? Commitment and
reputation?

7. What is the limit pricing?

8. Describe the model of limit pricing where one firm has an advantage.

Tema 12. «Entry Deterrence»

BonpochI 1J151 TMCKYCCHH.

1. What is the entry deterrence?

2. Describe the Dixit model.

3. How do investments facilitate the monopolization?

4. Why does a monopolist set competitive price at the contestable markets?
6. How does contestability create the entry barriers?

7. What are the entry barriers? Give some examples of them.

Tema 13. «Strategic Behavior: Principle»

Bomnpocs! 1J1s1 AMCKYCCHH.

1. What are assumptions of two-stage game?

2. What are strategic complements?

3. What are strategic substitutes?

4. Describe behavior of an incumbent in case of strategic accommodation.

5. Describe behavior of an incumbent in case of strategic entry deterrence.

6. Although strategic investment can confer an advantage on the first mover, such investment
also locks in the firm, which can be a disadvantage if conditions change. For example, the adoption
of the standard for compact discs by Philips and Sony in the early 1980s would have been very
costly if the market had eventually settled on a different standard. Discuss how the value of
flexibility would affect our analysis of strategic advantage.

Tema 14. «Strategic Behavior: Application»

Bonpocs! pis AucKyccum.

. Why does learning-by-doing give an advantage for a firm?

. What is switching costs? Give some examples of it in your practice.

. How can a firm manipulate its installed base of customers?

. What is a vertical separation?

. What is a strategic role of tying?

. Why does an owner encourage his manager to maximize sales?

. What is a strategic role of R&D?

. The two-stage framework is predicated on the notion that commitments can be made for a
longer time horizon than the period relevant for short-run decisions, e.g., for price and quantity
setting. But no commitments last forever, and many can be renegotiated. If, for example, a sunk

03N N~ W~
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investment depreciates over time, what effect would this have on the strategic analysis that we have
been developing?

TemsbI aJ151 dcce.
Describe the experience of a company which use one of tools of strategic behavior.

IIpumepbl peHTHHIOBBIX KOHTPOJIBHBIX padoT
PeiiTnHroBasi KOHTpoJIbLHas padora Nel.

I. Test.

1. The main goal of the manager is

a) profit maximization

b) his utility maximization

¢) total revenue maximization

d) cost maximization

2. Economies of scope means:

a) long-run average cost declines as the rate of output increases

b) it is cheaper to produce the two output levels together in one plant than to produce similar
amounts of each good in single-product plants

c) the rate of output where average cost is minimized

d) it is cheaper to produce the two output levels in two different plants than to produce similar
amounts of each good in one plant

3. What is an example of horizontal expansion of a firm (increase its horizontal boundaries)?
(2 options)

a) the merger of the two automobile giants: Daimler-Benz and Chrysler

b) Uber acquired Otto, a $ 680 million startup, developing technology to build self-propelled
trucks.

c) the merger of General Motors and Fisher Body, a supplier of closed metal bodies

d) the merger of the two pharmaceutical giants Kiba Gaiji and Sandoz, which led to the
formation of the giant Novartis.

4. According to the capital market discipline

a) If a manager does not maximize profits, then the value of the firm is lower than its potential
and a raider could acquire the firm, change management to maximize profits.

b) the manager is trying to avoid the negative reputation that results from poor performance.
Since managers have to change jobs from time to time, they are interested in creating an perfect
reputation.

¢) when product market competition is intense, the manager actively seek to maximize firm
profits, in order not to lose his or her job.

5. If the Herfindahl index is 10,000, this is the situation of

a) monopoly

b) oligopoly

¢) perfect competition

d) monopolistic competition

6. The absolute cost advantage is

a) Lower costs for existing industry firms compared to new firms

b) Lower average costs while increasing output

c¢) Consumer costs associated with the transition from one manufacturer to another

d) Decrease in demand of firms which entered the industry

7. What factor does lead to emergence of a dominant firm?

a) The dominant company has lower production costs compared to the competitive fringe

b) The dominant firm produces differentiated products
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c¢) Technological features of the industry, as a result of which a single company will bear
lower average costs than if several companies functioned on the market

d) The state grants only one company the exclusive right to manufacture these products

8. If the marginal cost of a dominant firm equal to the marginal cost of a competitive fringe,
then

a) a dominant firm is able to drive competitors out of the market

b) a competitive fringe completely displaces the dominant company from the market

¢) the dominant company will lose its leading position in the market

d) dominant firm becomes a monopoly

II. True or false the following statements. Explain.

1. The vertical size of the firm is largely determined by costs.

2.Franchising is a efficient way to solve hold-up problem, because it combines the benefits of vertical inte

3. A fixed costs is an investment in an asset with no alternative use.

4. The higher the marginal cost of the competitive fringe, the greater the market power of the
dominant firm.

II1. Solve the problems.

1. A firm’s short-run revenue is given by R = 21e - €? , where e is the level of effort by a
typical worker (all workers are assumed to be identical). A worker chooses his level of effort to
maximize wage less effort w - e (the per-unit cost of effort is assumed to be 1). Determine the level
of effort and the level of profit (revenue less wage paid) for each of the following wage
arrangements. Explain why these different principal-agent relationships generate different
outcomes.

a. w = 4 for e 3 1; otherwise w = 0.

b. w =R/3.

c. w=R-50.

2. A market share of the dominant firm is 1/3 of the toy market. It sells toys at an average
price of 60 thousand rubles per piece. The demand function is: P=60900-Q. Find the marginal costs
of dominant firm, fringe firms and their output, if it is known that each fringe firm has a share in
1/9 of the toy market. What is the number of fringe firms?

PeiiTuHroBasi KOHTpOJILHast padora Ne2.
I. Test.
1. A firm that is engaging in price discrimination will
a. charge a higher price to consumers with a higher price elasticity of demand.
b. charge a higher price to consumers with a lower price elasticity of demand.
c. earn lower profits than a similar firm that does not engage in price discrimination.
d. generally be a perfectly competitive firm.
2. The optimal two-part tariff strategy involves:
a. lobbying both the government of the country from which the firm exports and the
government of the country into which the firm imports for lower tariffs.
b. setting price equal to marginal cost and charging a fee to the less elastic consumers.
c. charging a lower price in the more elastic market.
d. setting price equal to marginal cost and charging a fee equal to the remaining consumer
surplus.
3. Information asymmetry occurs in the market:
. Search Items
. Experienced goods
. Normal goods
. Inferior goods
. What cannot prevent the adverse selection in the product market?
. Warranty

O Ao o
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b. Price

c. Reputation

d. Standards

5. In a game of , players know not only their own payoffs, but also the
payoffs of all the other players

a. complete information

b. perfect information

c. incomplete information

d. imperfect information

6. What is a dominant strategy of player 1 in the following game?
T W
S 54 3,6
D 0,5 24

S
D
. The player 1 doesn’t have a dominant strategy
. Both strategies are dominant
. What is not a characteristic a Cournot model?
. homogeneous product
. firms’ MC are the same
competition over quantity
. firms make their decisions consequentially
means that under price competition with homogeneous product and
constant, symmetric marginal cost, firms set price at the level of marginal cost.

a. Cournot equilibrium

b. Cournot paradox

c. Bertrand paradox

d. Bertrand equilibrium

I1. True or false the following statements. Explain.

1. A longer warranty period indicates good product quality.

2. It is unprofitable for manufacturers to provide products with a lifetime warranty, as it leads
to a moral hazard problem.

3. The seller is able to successfully apply third-degree price discrimination if different
consumer groups have the same elasticity of demand.

4. High entry barriers are the main reason for the emergence of oligopoly.

III. Solve the problems.

1. Consider the following duopoly. Demand is given by P =40 - Q, where Q = Q; + Q,. The
firms' cost functions are C;(Q;) = 4Q; and C,(Q,) = 2Q..

a. Suppose both firms have entered the industry. What is the joint profit-maximizing level
of output? What is profit of each firm? How much will each firm produce?

b. What is each firm's equilibrium output and profit if they behave noncooperatively? Use
the Cournot model. Draw the firms' reaction curves and show the equilibrium.

c.  How much should Firm 2 be willing to pay to purchase Firm 1 if collusion is illegal, but
the takeover is not?

2. Consider the following game depicting the process of standard setting in high definition
television (HDTV). The U.S. and Japan must simultaneously decide whether to invest a high or a
low value into HDTV research. Each country’s payoffs are summarized in Figure below.

oI =N e O N s N =2 )

Japan
low high
US |low |4:3 2:4
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| Lhigh 32 |11 |

a. Are there any dominant strategies in this game? What is the Nash equilibrium of the game?
What are the rationality assumptions implicit in this equilibrium?

b. Suppose now the U.S. has the option of committing to a strategy ahead of Japan’s decision.
How would you model this new situation? What are the Nash equilibria of this new game?

I
1
a
b
c
d
2
a
b
c. the detection and exclusion of cheaters
d
3
a
b
c
d
4
a

PeiiTuHroBasi KOHTpPOJILHast padora Ne3.

. Test

. Which of the following factor does not facilitate collusion?

. Product Heterogeneity

. High industry concentration

. Complete information

. Symmetric costs

. Stigler stressed that policing a collusive agreement depends on
. the detection and punishment of cheaters

. the detection and reward of cheaters

. the detection and follow-up to cheaters

. A game in which players play over and over again is called

. dynamic game

. repeated game

. sequential game

. two-stage game

. Which of the following factor does not influence on profitability of a collusive agreement?
. Inelastic demand

b. The larger the number of participating firms relative to the number of firms outside the
agreement

C

. Complete information

d. A high entry barriers

5
a

. According to free-entry condition:
. the profits of an additional entrant must be positive and the profits of a firm in the industry

nonnegative.

b

. the profits of an additional entrant must be nonpositive and the profits of a firm in the

industry nonnegative.

C
d
6
a
b
c
d
7.
a
b
C
d
8
a
b

. the profits of an additional entrant and the profits of a firm in the industry must be negative.
. no variants are correct

. What is not an assumption of address model?

. The address of a consumer represents their most preferred product
. Consumer’s preferences are symmetric

. Consumer preferences are distributed in the same product space

. Consumers have completely inelastic demands

According to principle of minimum differentiation

. products are homogeneous

. products are differentiated

. firms collude

. there are many different firms at the market

. The principle of backward induction allows to

. find a unique SPNE in sequential game

. use credible commitment
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c. find NE in simultaneous game

d. find several SPNE in sequential game

I1. True or false the following statements. Explain.

1. Tit-for-tat strategy can be used in infinite repeated games.

2. The greater discount factor, the more incentive to deviate from collusion.

3. The elasticity of substitution influences on products’ variety: less elasticity of substitution
leads to more differentiated products.

4. Products are horizontally differentiated if consumers have heterogeneous preferences
regarding the most preferred mix of different attributes.

III. Solve the problems.

1. Consider the stage game shown in Figure below.
Cl C2 C3
R1 2;2 2;1 7;1
R2 1;2 3.3 5.4
R3 1;5 2:2 66

a) Find the Nash equilibrium.

b) Now suppose that the game is repeated indefinitely, but ends after each period with
constant probability p. Find a condition on p such that (R2,C2) is sustainable as an SPNE. Assume
that both players use “Nash reversion” strategies; if either player ever deviates, then the other will
play his Nash equilibrium strategy from then on.

2. Demand in a market is given by P = 80— Q. The cost function is C = Q? and marginal cost of
production is 2Q.

a) What are the monopoly output and profits?

b) Suppose that there are two firms in the market. If they were to agree to maximize industry
profits, how much would each produce? What would the profits of each firm and industry profits
be?

c) Is the collusive agreement in (b) a Nash equilibrium?

IIpumep 3aueTHOM padoThl B 1 cemecTpe.

I. Test.

1. The rate of output where average cost is minimized and economies of scale are exhausted is
called:

a) market output

b) no efficient scale

¢) minimum efficient scale

d) monopoly output

2. What is an example of vertical expansion of a firm? (2 options)

a) the merger of the two automobile giants: Daimler-Benz and Chrysler

b) Uber acquired Otto, a $ 680 million startup, developing technology to build self-propelled
trucks.

c) the merger of General Motors and Fisher Body, a supplier of closed metal bodies

d) the merger of the two pharmaceutical giants Kiba Gaiji and Sandoz, which led to the
formation of the giant Novartis.

3. According to the labour market discipline

a) If a manager does not maximize profits, then the value of the firm is lower than its potential
and a raider could acquire the firm, change management to maximize profits.

b) the manager is trying to avoid the negative reputation that results from poor performance.
Since managers have to change jobs from time to time, they are interested in creating an perfect
reputation.
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¢) when product market competition is intense, the manager actively seek to maximize firm

profits,
4

in order not to lose his or her job.
. Fixed costs of production factors

a) do not depend on the current level of production.

b

) are the value of the factor in its next best alternative use.

¢) are investment in an asset without alternative use.

d
5

) are vary in proportion to production.
. Which of the following is an example of price discrimination?
a. It costs more to make a long-distance phone call during the day than it does late at night.

b. A ticket to the zoo costs less for a child than it does for an adult.

c. Regular gasoline costs less than premium gasoline.

d. All of the above are examples of price discrimination.

6. A firm will find it difficult to engage in price discrimination if:

a. the demand curve is downward-sloping.

b. consumers are smart.

c. the good is normal.

d. there are close substitutes.

7. What is not a signal at the insurance services market?

a. 1insurance history of the individual

b. diseases history

c. selection by the individual of a particular clinic

d. information about car accidents with the participation of an individual

8. What is not an example of moral hazard?

a. neglect of safety after receiving fire insurance

b. displacement healthy people with sick people at the life insurance market

c. excess speed after receiving auto insurance

d. careless use of the goods with a warrantee

9. What is not a basic element of a game?

a. Player

b. Payoff

c. Outcome

d. Strategy

10.In a game each player moves once, and when a player moves she does so
not knowing the action of her rivals.

a. dynamic

b. static

c. perfect information

d. incomplete information

II. True or false the following statements. Explain.

1.

A monopolist who is able to practice third degree price discrimination will make greater

profits than a monopolist who is able to practice first degree price discrimination.

2

. The purpose of price discrimination is to capture consumer surplus and deadweight loss

in order to increase firm’s profit.

3.

The profit-maximizing rule is that a firm should produce at the output level that marginal

revenue exceeds marginal cost

4

. There are increasing returns to scale if increasing all inputs by a factor t results in a less

than t increase in output.
III. Solve the problem.
Two firms compete by choosing price. Their demand functions are

01 =60-P1+P2and 02 =60+ Pl -P2

Marginal costs are 10.
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a. Suppose the two firms set their prices at the same time. Find the resulting Nash equilibrium.
What price will each firm charge, how much will it sell, and what will its profit be?

b. Suppose Firm 2 sets its price first and then Firm 1 sets its price. What price will each firm
charge, how much will it sell, and what will its profit be?

c. Suppose you are one of these firms and that there are three ways you could play the game:
(1) Both firms set price at the same time; (ii) You set price first; or (iii) Your competitor sets price
first. If you could choose among these options, which would you prefer? Explain why.

IIpumep 3a4ueTHOI padoTHI BO 2 cemecTpe.
I. Test.
1. According to most-favored-customer clauses
a. collusion will be sustainable because punishment will be more severe.
b. collusion will not be sustainable because firms will offer a discount to their customers.
c. collusion will be sustainable because firms will compete against each other in a number of
different geographic markets.
d. collusion will not be sustainable because firms will compete against each other in a number
of different geographic markets.
2. Firms engage in when they mutually devise a common plan of action and
exchange mutual assurances to follow that common course of action.
a. tacit collusion
b. common collusion
c. Nash equilibrium
d. explicit collusion
3.Which of the following factor facilitates collusion?
. Uncertainty
. Asymmetries in Preferences
. Enforcement
. Innovation
. A game in which players play over and over again is called
. dynamic game
. repeated game
sequential game
. two-stage game
. The principle of backward induction allows to
. find a unique SPNE in sequential game
. use credible commitment
. find NE in simultaneous game
. find several SPNE in sequential game
6.Address models consider
. consumers’ preferences defined over the characteristics or attributes of products
. issue of the extent of variety—the number of products available in the market
firms’ behavior about quality of products
. price completion of oligopolists
. If there are three firms in Hotteling city and there is no sunk costs
. in Nash equilibrium 2 firms will stand together, and the last one will stand on the periphery
. in Nash equilibrium three firms will stand at the same distance from each other
. in Nash equilibrium three firms will stand together
. there is no Nash equilibrium
If incumbent’s investments are tough and firms are strategic substitutes, then the
incumbent’s strategy is
a. top dog

b. puppy

QO TP LAO T Ao o
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c. lean and hungry

d. fat cat

I1. True or false the following statements. Explain.

1. Tit-for-tat strategy can be used in finite repeated games.

2. The greater discount factor, the more incentive to deviate from collusion.

3. In circumstances of downturns in demand it isn’t rational for firm to deviate from
collusion.

4. The elasticity of substitution influences on products’ variety: less elasticity of substitution
leads to less differentiated products.

5. In order to lick in customers a firm should increase its switching costs.

III. Solve the problems.

1. A county consists of two towns, Right and Left. Each has 1/5 of the population lives in
each of two towns. The remaining 4/5 lives uniformly scattered on the one straight road that
connects the two towns. There are 5 taverns. Each drinker will go regularly to whichever bar is
closest to him. The price of a drink in each bar is equal and determined by the government. The
only variable that owners have control over is their location. Find the Nash equilibrium locations of
the five drinking establishments.

2. Suppose that firms 1 and 2 are Cournot competitors, and their only costs are their
managers’ salaries, which can be expressed as $1 per unit of output. Inverse demand is given by P =
10—Q. First, compute the Cournot equilibrium quantities and profits for each firm. The owners of
firm 1 decide to direct their manager to maximize sales, rather than profits. If he does so, compute
the new Cournot equilibrium quantities and profits for each firm. Has firm 1°s profit increased?

7.4. MeToauuyeckue MaTepualsbl, ONpeAesioliue IpoLelypbl OLICHUBAaHU 3HAHUN, YMEHHMH,
HAaBbIKOB U (WJIM) OMbITA 1€ATEIbHOCTH
@DOpMBI KOHTPOJIA:

Texymuii — ¢poHTanbHble, KOMOMHUPOBAHHBIE OMPOCHI B paMKax ceMuHapa (BKJag B
UTOTOBYIO OLIEHKY — 20%)
[IpomexxyTOUHBIN — BBIIIOJIHEHHE KOHTPOJBHBIX PabOT/KOJIJIOKBUYM (BKJIaJ B UTOTOBYIO

otieHKy — 50%)
NroroBerii- 3aueTHas padboTta B MUCbMEHHON (hopme (BKJIa] B UTOTOBYIO OTIeHKY — 30%)
HroroBast omneHka — BBICTABISETCS HMCXOAS M3 OallJOB, MOJYyYEHHBIX Ha CEMHUHApPCKHUX
3aHATHAX, 0ATIIOB 32 KOHTPOJIbHBIE paOOTHI, KOJUTOKBUYMAa M OIICHKHU Ha 3a4eTe.

Tabauna 9 — IIpuMepsl 0O1IEHOYHBIX CPEIACTB ¢ KJIKYAMH MPABUJIbHBIX 0TBETOB

. Bpemsa
Ne Tun [IpaBunbHBIN P
DopMyIupoBKa 3a1aHUA BBITIOJTHEHUS
/o | 3agaHus OTBET
(B MuHyTax)
CHOCOOHOCTh K KOMMYHHUKAIIUM B YCTHOW M MUCBMEHHOM (pOpMax Ha pycCKOM M MHOCTPAHHBIX

SI3BIKAX JIJISL PEIICHHS] MEKJIMYHOCTHOTO M MEKKYJIbTypHOTO B3aumoeicteus (OK-4)

1. 3amanue | The absolute cost advantage is a 1
3akpeiToro |a) Lower costs for existing
TUIA industry firms compared to new
firms

b) Lower average costs while
increasing output

¢) Consumer costs associated with
the transition from one
manufacturer to another

d) Decrease in demand of firms
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Tun
3aJaHusg

DopmMyIHPOBKA 3aJaHUS

[IpaBunbHbII
OTBET

Bpems
BBITIOJTHCHHSI
(B MUHYTaX)

which entered the industry

Information asymmetry occurs in
the market:

e. Search Items

f. Experienced goods

g. Normal goods
Inferior goods

1

According to  principle  of
minimum differentiation

a. products are homogeneous
b. products are differentiated
c. firms collude

d. there are many different
firms at the market

What cannot prevent the adverse
selection in the product market?

a. Warranty

b. Price

C. Reputation

d. Standards

Economies of scope means:

a) long-run  average  cost
declines as the rate of output
increases

b) it is cheaper to produce the
two output levels together in one
plant than to produce similar
amounts of each good in single-
product plants

c) the rate of output where
average cost is minimized

d) it is cheaper to produce the
two output levels in two different
plants than to produce similar
amounts of each good in one plant

3aganue
OTKPBITOTO
THUIIA

What is economy of scale? How is
economy of scale connected with
return to scale?

The effect of scale is
associated with a change
in the cost of a unit of

production, depending
on the scale of its
production by  the

company. Considered in
the long term. Reducing
unit costs when scaled
up is called economies
of scale. The shape of
the long-run cost curve
is related to economies
of scale.

8-12
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/o

Tun
3aJaHusg

DopmMyIHPOBKA 3aJaHUS

[IpaBunbHbII
OTBET

Bpems
BBITIOJTHCHHSI
(B MUHYTaX)

Economies of scale can
be exploited by
companies of all sizes
by increasing their
operations. The most
common methods are
purchasing (getting bulk
discounts), management
(using specialization of
managers), finance
(getting less expensive
loans), marketing
(spreading  advertising
costs for a wider range
of products). The use of
any of these factors
reduces the long run
average cost (LRAC) by
shifting the short-run
average  total  cost
(SRATC) curve down
and to the right on the
chart.

What types of entry barriers are
there? Describe them in short.

There are 3 types of
entry barriers.
Government
Restrictions on Entry,
Structural
Characteristics and
Strategic Behavior by
Incumbents.
Governments grant
exclusive franchises
because of  Natural
Monopoly, Redistribute
Rents and Intellectual
Property Rights.
Structural characteristics
protect  the  market
power of incumbents
without attracting entry.
They are characteristics
that reduce the
profitability of entry.
There are four structural
characteristics that are
often thought to be entry
barriers: Economies of
Scale, Sunk

5-10
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/o

Tun
3aJaHusg

DopmMyIHPOBKA 3aJaHUS

[IpaBunbHbII
OTBET

Bpems
BBITIOJTHCHHSI
(B MUHYTaX)

Expenditures of the
Entrant, Absolute Cost
Advantages, Sunk
Expenditures by
Consumers. As  for
Strategic Behavior by
Incumbents, there are 3
categories of strategies
available for incumbents
to raise the height of
barriers to entry:
Aggressive  Post-entry
Behavior, Raising
Rivals’ Costs, Reducing
Rivals’ Revenues.

What is a dominant firm? Why
does a dominant firm exist?

If one firm is a price
setter and faces smaller,
price-taking firms, it is
called a dominant firm.
It typically has a large
market share. Some
factors make a firm
dominant: dominant
firms may have lower
costs than fringe firms;
dominant firm may have
a superior product in a
market where each firm
produces a differentiated
product; a group of
firms may collectively
act as a dominant firm.

3-7

What are necessary conditions for
price discrimination?

The first is that the firm
must possess market
power: without it, the
price of all units of all
goods will be driven
down to the level of
costs by competition,
and price discrimination
cannot arise.

The second necessary
condition for  price
discrimination is that
resale or arbitrage must
be  prevented.  The
problem is that the
consumers of the low-
priced goods may be

5-10
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Tun
3aJaHusg

DopmMyIHPOBKA 3aJaHUS

[IpaBunbHbII
OTBET

Bpems
BBITIOJTHCHHSI
(B MUHYTaX)

10.

tempted to resell them to
consumers who were
intended to buy the
high-priced goods, and
unravel  the  firm’s
careful price
discrimination scheme.
The phenomenon of
gray markets is a good
example of attempts to
unravel price
discrimination schemes.

How does tying differ from
bundling? Why might a firm want
to practice tying?

Tying refers to
conditioning the sale of
one good on the
purchase of another. The
simplest case of tying is
just an application of our
analysis of two-part
tariffs. This method of
extracting consumer
surplus is to force the
consumer to make an
advance payment for the
right to buy goods. Then
consumers pay
additionally for each
item they wish to
receive. A classic
example of this
phenomenon is  an
amusement park. You
pay an entrance fee to
get there, and then a
certain amount for each
trip or attraction.

Bearing this in mind, we
will see in this section
how bundling, which

may have little
immediate resemblance
to other price

discrimination schemes,
can realize exactly the
goal of capturing more
surplus for the firm.
Bundling refers to tying
in fixed proportions. For
example, each left shoe

10-12
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Tun
3aJaHusg

DopmMyIHPOBKA 3aJaHUS

[IpaBunbHbII
OTBET

Bpems
BBITIOJTHCHHSI
(B MUHYTaX)

is normally bundled
with a right shoe, car
bodies are bundled with
engines and tires, etc.,
and cable television is
sold in “bundles” of
channels, rather than
each channel having an
individual price.

CIIOCOOHOCTB, HCIIONIB3YSl OTEYECTBEHHBIC M 3apyOeKHbIE MCTOYHMKH HH(pOpMaimu, coOparb
HE00XO0/lMMbIE JJaHHbIE, IPOAHAIM3UPOBATh UX U MOATOTOBUTH MH(GOPMAIMOHHBIN 0030p W/miu
a"amutraeckuit otuet (I1K-7).

1. 3aganue True or False: Price discrimination | True 2
3akpeiToro | is a set of pricing strategies for
THIA extracting more surplus than is
available under uniform pricing -
true.
2. A barrier to entry is something that | False 2
makes the expected profits of an
entrant negative even though
incumbent firms are able to
exercise market power
3. The more efficient the dominant | True 2
firm vis-a-vis the fringe—the
lower its marginal costs—the
greater its market power
4. An efficient allocation minimizes | False 2
total surplus.
5. Barriers to entry determine the | True 2
extent to which a firm can exercise
market power in the long run.
6. «A price - taking firm selling in a | At a competitive market 5-7
market with a price greater than | firms produce optimal
the firm's average cost should | output when minimum
increase  its  output level». | AC equals MC and
Comment. price. If a firm has cost
advantage, so market
price is higher than its
AC and in this case this
firm  have  positive
profit. And its output
optimal as MC cross AC
at the point of minimum
last ones. The statement
1S wrong.
7. Why could Norwegian produces | By the  mid-1980s 5-7
take a dominant position in the | farmed salmon had

market of farmed salmon and hold
this position for almost two

become a major export,
especially to the United
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decades?

States. Farmed salmon
competes with  wild
salmon, but has an
advantage in that fresh
wild salmon is only
available at certain
times of the year. The
United States is the
world’s largest producer
of wild salmon.
However, much of this
1s canned and it must be
frozen if consumed
outside of the harvest
season. Farmed salmon
can be harvested year-
round and thus is always
available fresh. As a
result restaurants in the
United  States  were
significant buyers of
Norwegian farmed
salmon, and wild and
farmed salmon are not
perfect substitutes.

3. Two parts in an automobile
taillight are the plastic exterior
cover and the light bulb. Which of
these parts is a car company more
likely to manufacture in-house?
Why?

As it’s known light
bulbs are homogeneous
good. So they can be
produced by external
suppliers.  But, the
plastic exterior cover
must be custom-
designed and
manufactured for each
make and  model.
Because it requires more
Relationship ~ Specific
Investment, it is more
likely to be made in-
house.

1998 news article reported that
Delta Air Lines and American
Airlines tried to raise leisure air
fares 4% in most domestic
markets, but the move failed
Monday  when lone-holdout
Northwest Airlines refused to
match the higher prices. The
aborted price boost illustrates the
impact Northwest's woes already
are having on the industry. Months
of labor unrest . . . are prompting

Lone-holdout Northwest
Airlines  refused to
match the higher prices,
thereby stimulating
demand at home. By
causing a significant
increase in sales at a low
price, it significantly
increased the volume of
production (sales).
Elastic demand made it
harder to  maintain

5-7
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10.

passengers to book away from the
fourth largest carrier. What does
this say about the nature of price
dynamics in the airline industry?

collusion, as it increased
the returns from fraud,
namely, a drop in
demand for the services
of airlines caught in
collusion.

Explain why collusive pricing is
difficult in a  single-period
competition and easier when firms
interact over multiple periods.

Price fixing is difficult
during one period of
competition and easier
when firms interact over
several periods, because
during  one  period
competition firms have
incentives to cheat and
charge lower prices than
competitors in order to
obtain high short-term
profits.

7.4.

MeToanueckue

MaTepualbl,

pe3yJbTaToOB 00y4eHMs 0 JUCHUIINHE (MOLYJII0)

onpeaejadrmue

npoueaypbl

OICHUBAHUSA

Taoauna 10 — TexHosiornyeckasi KapTa peMTHHIOBBIX 0AJIJI0B 10 AUCUUIJIMHE (MOLYJII0)

KonunuectBo MakcumansHOE Cpox
No Kontponupyembie N
W MEpOTpHITHS MEPOTPUSITHI KOJIMYECTBO MIpPE/ICTaBIIC
/ Ganbl 0aJIoB HUS
OcHoBHOI 0J10K
1. | OrBer Ha 3aHATHH 4/5 20
2. | Hanucanwue scce 3/10 30
3. | UroroBas pabora 1 50
Bcero 90 -
bJok 6oHycOB
4. | IlocemnieHue 3aHATHI 1 4
5. | CBOEeBpeMEHHOE BBIMIOJIHEHHE BCEX 1 6
3aJaHu’
Bcero 10 -
UTOro 100 -
Tabauna 11 — Cucrema mrpadoB (J1s1 0THOT0 3aHATHS)
ITokazarenb bamn
Omno3gaHue Ha 3aHATHE -1
Hapymenne yaeOHON UCIUILIHHBI -2
HeroTtoBHOCTB K 3aHSATUIO -2
[Tpomyck 3aHATHS 0€3 YBOXKUTEILHON MTPUYNHBI -2
Taoiuma 12 — IlIkana mepeBoga pPeldTHHIOBBLIX 0A/UI0OB B MTOTOBYIO OIIEHKY 3a ceMecTp

N0 AUCHUIIHHE (MOAYJII0)
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Cymma 6ajuioB Ouenka 1o 4-0aJyIbHOM IIKaje
90-100 5 (OTIUYHO)
85-89
;gigj 4 (xopomo) 3auyTeHo
65-69 3 (yAOBJIETBOPUTEIBHO)
60—64
Hwxe 60 2 (HEYIOBJIIETBOPHUTEIHHO) He 3auteHo

IIpu peanuzauuy AUCUUIUIMHBI (MOAYJS) B 3aBUCUMOCTH OT YPOBHS IOJATOTOBJIEHHOCTH
o0yyaroImuxcss MOTryT ObITb HCIIOJIb30BaHbl MHBIE (OPMBI, METOAbI KOHTPOJIS U OLIEHOYHBIE
CpEnCcTBa, UCXOAS U3 KOHKPETHOU CUTYyalUH.

8. YYUEBHO-METOJUYECKOE U UHO®OPMAILIMOHHOE OBECHEYEHUE
JUCLUILINHBI (MOLY.JIS)

A)OcHoBHas1 JIuTepaTypa:

1. Kern X., DxoHomuka otpacieit u ¢upM [DnekTpoHHbIH pecypc] : yued. mocobue / K.
Xutep; mep. ¢ aHrn. - M. : O@unancel u  craructuka, 2004.  URL:
http://www.studentlibrary.ru/book/ISBN5279027375.html

2. KOcymoBa, A.T. Teopus oTpacieBbiX PHIHKOB : ydeOHOoe mocobue / KOcymoBa A.T.,
Mkptusia .M., mox pea. — Mocksa : KnoPyc, 2017. URL: https://book.ru/book/922338

0) /lonoJiHUTEIbHAS JINTEpaTypa:

1. AnmameBa, Cetiana bopucoBHa.Teopusi opraHu3anid OTpPacieBBIX PBIHKOB : yueO. /
ApnameBa, Cernana bopucoBna, Po3zanoBa, Hapexna Muxainosna. - M. : WYII "U3g-Bo
Maructp", 1998. - 320 c. (5 7k3)

3. Crpenen, U JIp U.A. Teopust oTpacieBbIX phIHKOB 10 : yuebHoe mocobue / Ctpenerny U Jlp
N.A. — Mocksa : KnoPyc, 2019. URL: https://book.ru/book/929778

8.3. UuTepHeT-pecypchbl, He0OX0AUMbIE J1JI1 OCBOEHMS JUCHMILIIMHBI (MOXYJIs)
1.Dnexkrponnslii katanor Hayunoit 6ubnuorexu AI'Y. https://library.asu.edu.ru
2.Hayunas snexktponnas ouonmorexka eLIBRARY .ru: http://elibrary.ru
3.CnpaBounas npasoBas cucrema Koncynprant [Tnroc: http://www.consultant.ru
4. DnekTpoHHAs OMOJIMOTEKA aHTIOSM3BIYHBIX cTaTel: https://www.ssrn.com

9. MATEPUAJIBHO-TEXHUYECKOE OBECIIEYHEHUE JUCHUIIVIMHBI (MOAYJIS)

PabGouass mporpamma AMCHUIUIMHBI (MOAYJSI) TPU HEOOXOIMMOCTH MOMKET OBITh
aIanTHPOBaHa Il OOy4eHHUsl (B TOM 4YHCJEC C MPUMEHEHHEM TUCTAHIIMOHHBIX 0Opa3oBaTEIbHBIX
TEXHOJIOTH) JTUI] C OTPAHMYEHHBIMUA BO3MOXXHOCTSIMHU 3/I0POBbsI, MHBANUAOB. [lj1s 3TOTO TpeOyercs
3asBIICHHE OOYYAIOUIMXCS, SIBIISTIONIMXCS JIMIAMH C OrpaHMYEHHBIMH BO3MOXXHOCTSIMH 3]I0OPOBBS,
WHBaJIUJaMU, WM WX 3aKOHHBIX NPEJICTaBUTENCH ¥ PEKOMEHIAIUU ICHUXOJIOT0-MEIHKO-
MeIarormuecko KoMuccuu. JlJii MHBATUIOB cojaepikaHue pabouelt MporpaMMbl JIUCITUTUTAHBI
(MOIynsi) MOMET ONpEeNeNiaTbCcs TaKKe B COOTBETCTBUU C WHIUBUAYaJIbHOW MPOTpaMMOi
peabunuTanuy HHBaIUAA (MIPU HATHYUHN).



